EARAROBREBRT —5 XN—ZXBISH—F 202288126 (&) 1MOEH3E

W C2- USR3IF/E BN R
[xE%] 15 :600,000H  23&:240,000 @ ~ 33#&:150,000 9 . 43%&:90,000 ™ 5 3&:60,000 M
IR RESS /M 3 BF (FB) |94L (EFD | BBIEM | b3F [SiER | AR | #8 | B8 R / B / £E%S
o5 i 3 | ALUEE 1:31.7 8-8-5-5 |39.3| - 1 49 |mERE (EH)
118]10|—¥Ya3EatL 54.0 - 45) ") mER—AL—v Vo
RiIW—5—IvF BZFUFvY #HBEIT7—L
» 8 3 | TIRhE 1:31.9 1-1-1-1 [40.2| - 7 462 | JLEFHEL (FEkR)
2155 | FOKRS 54.0 (3/4) 4y |HEBF
RPAUAYRA NI Ay B:FvUF4—TJIR b F—U— - Iv )XY - T7—LERE
= REERELSR 132, -6-7- . - IR (FakR)
3B) 3| SIVFTLT R i 1(13/22)0 A ’ (‘1722) *iBiEH
RE-URX B:SIWFFIIN (B) 81— KL—y3avEEI 7
SREE 3 -4-3- - ERERsL (E/)
4 4| AT TAET—I 4% 5 = 1.(332).5 3-4-3-2 | 40.6 2 (4)(9; g
Ri/PTTURN B:YZ—-5THhTzx EERS
4 4 | REBR 1:32.6 9-9-8-8 | 40.1| - 9 444 | AR (BH)
50111 YYUXUY 54.0 (/4) (5 |HEOHE
RNV vH—)L B:T7AE— BN e
) 3 | LR 1:32.7 5-5-6-6 | 40.6 | — 6 406 |BEER (EH
ol 6 | RAF7—J# * $52.0 P ) 1011
R:FPIPIITRATVR 8:YINEa1—FT« Bl =
P 4 3 | THE 1:33.2 2-2-2-2 | 41.4| — 4 480 | ¥R (FEER)
702|757 AT 5.0 5 4o | ) T7—2hEYVaY
Ri¥YUSTvRk B:EUITFrIR—Y BERIY R

ot Y\ t 4 | WEX 1:33.3 10-10-9-9 [40.5| — | 10 | 402 |=HES (EEH)
E!z RAINRT £ 54.0 %) 5 | @) TL5I—RU—v3Y

Rib—€ry¥3—5y B:YYIvrRUaR ESHhITT7—L
917 8 “J—OIADb"yI\‘ € 3| BEAR 1:(3;;2 3346 |42.2| - | 8 (4:25) ﬁfzi ()
KN40 BARATUI R %5
1089 Efi;jé'jufgfjﬁ 3 | B (1;{661) 6-7-10-10 | 43.4| — | 5 (4+3;) g%@%jﬁm)
@ JI—J—@BIEI
13—7F— |5,7,(4,8),6,9,3,10,1,2
23—F— |5,7,8,4,6,3,9,10,1,2
33—73— |5,7,4,8,10,6,3,1,2,9
43—F— |5,(4,7),3,10,(6.8),1,2,9
® IL\RE
8 10 1201 | | 94 F 5-10 680F3 | | 4% & 5-8 1,360 | | 3=t 3-5-10 1,810
& B 10 100H4 3-10 2501 | | /& 5-10 1,570 | | =& 10-5-3 6,040M
5 490M 3-5 1,510 | | & & 10-5 1,770M
3 180H4

ABIC OV TRUTEREERRODDZE. THRIIZEL.



